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PART - |
Nursing Aptitude

Define Sanitation- 1.

A. Unhygienic Practices to Promote
health

B. Unhygienic Practices for Unhealthy
life

C. Both AandB

D. Hygienic Practices to Promote
health

Highest stage in the human learning is- 2.

A. Imaginative thinking
B. Creative thinking
C. Problem solving

D. None of above

How much time is recommended to 3.

wash your hands?

A. 10 seconds
B. 20 seconds
C. 1 minute

D. 4 minutes

FfefT srferermar

TI=dT ohl IITT -

A, STESTEIRT ST § TaTELY i FQTaT
Cell

B. ey Sierft & o srameese
ST

C. AN BaIE

D. TITEeRT IR0 § TaTEeY ohl SITdT
cell

Tl AT T STeaH =T -

A. FEIRAS A=

B. TeTcH® €=l

C. HHE I GAAHT

D. T &S T

foRd TH ek BT € 3hT HalTe & STt &2
A. 10 heH

B. 20 ¥ehgH

c. 1fFe

D. 4fimcH
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Which methods of birth control needs a
Prescription?

A. Birth control pill

B. Contraceptive patch
C. Diaphragm

D. All of the above

Navjaat Shishu Suraksha Karyakram
(NSSK) was launched in-

A. July, 2007

B. August, 2008
C. September, 2009
D. September, 2010

Full form of PMSSY is-

A. Pradhan Mantralaya Swasthya
Suraksha Yojana

B. Pradhan Mantri Swasthya Suraksha
Yojana

C. Pradhan Mukhya Swasthya
Suraksha Yojana

D. Pradhan Mantri Swasthya Shiksha
Yojana

How should you open the airway of an
unconscious patient?

A. Head back and chin lift
B. Jaw thrust

C. Head tilt and jaw thrust
D. Lift the chin

I U S Tieeh adieh | €7, & foiflgd o=
Y JTTIIIHAT BiT &2

A, o frerss e

B. i fRige I

c. ¥ frges ot

D. 39Uk @+t

FerSiTa fRTS] GeeT SHRIsHH (T TH TH )
SV R 77T <T-

A. SIS, 2007
B. 3TTE, 2008
C. Tds, 2009
D. fdew, 2010

oY T 08T AT, T 0 9 ©-

A. T HATCH Tereed GRaT ASHT
B. N Hil TSy At AT
C. oI H& TTeed e JrsfH1
D. eI H5it Earee e At

i TEIST T SRR 3719 o @IeT?
A. TR genr A ggel 33
B. SIS HSR

C. Tt g I Sfarg H S

D. gSs!I3MI
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8. Common indicator of water pollution is- 8.  STcl YT <hT WHT i 8-

A. Entamoeba histolytica A, Ueufie feifefessT
B. E.Coli B % Fms
Eichhorni
C. Eichhornia Crompes C el gt
Lemna Pacucicostata
> D. ST IR
9. Which of these methods of Sterilization 9.  SEAHIUT T TATAY AT B-
is permanent? ' '
A. fEaanfet sy
A. Tubal ligation
B. U&Y FHsidt
B. Vasectomy
A 3R B 3T
C. BothAandB C.
D. None of the above D. EARLEL
10. Hardness of water can be removed by- 10. T+l shi SHSITT b G fehalT SIT el &-
A. Bleaching powder A ST = g
B. Lime B. T T
C. Chlorination C. e ¥ g
D. None of the above .
D. STRE ¥ IS T8l
11. Which of the following disease is 11. AT ST S St FUTT ok SR Il 2-
caused by protein energy malnutrition? .
A. hdalg
A. Angina
: B. TS
B. Goiter
C. @I
C. Marasmus =
D. &I

D. Tuberculosis

SPACE FOR ROUGH WORK / &% &Td & for&r sre

20362-XGY-PRA-VMWH-M1 5 40 Set A



12. ARSH is related with- 12. U R UH U G 2-
A. Adolescent Health A TRt TR
B. Geriatric Health B, SRIffRRedT ey
C. Infant care c %@ﬁéw
D. None of these . .
D. 39H ¥ IS T2l
13. Public Health Services includes- 13. drasi-eh TaTEeg garet ¥ e 8-
A. School and health education A e wree fre
B. Hygienic environment B. el wwsd
C. Control of communicable diseases C. EspTees it < FeT
. All of the above
D D. 39Uk gt
14. Mission “Indradhanush” programme is 14. T SRy HRIHT Hsifod 8-
related to----
A, Sfceor
A. Immunization
. B. &dqd4M
B. Breast feeding
=t f3m
C. Female education c. a
D. Nutritional supplementation D. K
15. How many bones are there in the human 15. Fo%h uHa | fohat sgfeat et &
adult?
A. 33
A. 33
B. 206
B. 206
C. 639
C. 639
D. 507
D. 507
SPACE FOR ROUGH WORK / T% & o fo1a srg
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16. Following are the elements of Primary 16. STeITHe TR @I o STaTid - &
Health Care, except- framr oot e 2

A. Health education
B. Cost effectiveness

C. Inter sectoral co-ordination )
C. It & gHa
D. Provision of essential drugs ’
D. TA¥IS GaTl ol T

17. “Mid-day meal” programme started in 17. a%aﬁﬁuﬁ“ﬁ@-%ﬁwaﬁwsgsﬁns‘
the year- 2
1
A. 1960 A. 1960
B. 1961 B 1961
1995
c. C. 1995
D. 2001 D 2001
18. What is not considered a Leucocyte? 18. A Th HITITHTAN H FT T AT 27
A. Lymphocyte A. TEHTeRT iRt
B. Monocyte B. U ohgdh Ad ShITITEhRT
C. Neutrophil c sardE T
Thrombocyte
D. y D, sty
19. Full form of B.Sc. Nursing is- 19. st (B.Sc.) ARET T 901 &9 -
A. Science in Nursing A, TS T ARET
B. Nursing in Science B ARfTETaTE

C. Nursing Science in bachelor

C. T 9y 37 Seier
D. S<IeR AT |gd 39 I

D. Bachelor of Science in Nursing
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20. Kala aazar is transmitted by- 20. AT @R foREh ST WG BT 82

A. Aedes mosquito A. TSN g=st
B. Tsetse fly B. J&H Hadl
C. Sandfly C. Wgﬁqq@\
D. Mice D. =@

[N
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PART - 11
Physics

wfaeht

21. A thin glass lens of refractive index 1.5 21. 1.5 YT AT Yt - T TehTIITh

has optical power of —5D in air. Its

RIfeh, A H -5D &, I 30 | ! 1.6

optlcal. power ina Ilqu'ld medium with N
refractive index 1.6 will be-
o1 TehTT3TeR TR T W1 BRTI-
A. —-1D
A. -1D
B. 5
=D B. 5
8 =D
8
C. -25D C. -25D
D. +25D D. +25D
22. Difference in balance length for two 22. 3 Hal S T aeeh sl 1 3= 0.6
cells in potentiometer wire is 20 cm and e 21 FrvremTdt gRT 37 St S adferd
difference in their emf’s is 0.6 volt. If " N
o ) U G, Tl TaITSaT 3T 3Fwat 20 T,
length of the wire is 5 m then potential TN il
gradient and strength of potentiometer afe ferweeTelt bt AT A1 s 5 Hed 8, 7
will be- forerar yaurar 3R fersyemdt it wmet 1 9
2-
A. 2V/m,20V
A. 29/ HieT, 20 diee
B. 2V/m,15V
B. 2 T /1T, 15 Tiee
C. 3V/cm,15VvV
C. 3diee/aHt, 153

D. 30V/m,15V

30 diee / "I, 15 diee
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23.

24,

25.

A uniform conducting wire of length
12a and resistance ‘R’ is wound up as a
current carrying coil in the shape of

1) an equilateral triangle of side ‘a’
il) a square of side ‘a’

The magnetic dipole moments of the
coils in each case respectively are-

A. 4122 and 3l1a?
B. J§Ia2 and 3la2

C. 3Ia2 and Ia2

D. 3Ia2 and 4Ia2

If the frequency of input alternating
potential is n, then the ripple frequency
of output potential of full wave rectifier
will be-

A. 2n
B. N
c. n
2
D. 3n

An air core solenoid has 2000 turns in a
length of 60 cm. Its diameter is 2 cm. If
a current of 5 amp flows through the
coil, what will be the flux density within
it?

A. 0.042 Tesla
B. 0.035 Tesla
C. 0.030 Tesla
D. 0.021 Tesla

23.

24.

25.

Teh 12a TAFSITS dT I ‘R’ ShT ThEH
ATAh T dR,

i) @’ YSIT o THTg Fret, e

ii) “a” ¥SIT o o] o HATHI hT GRS
FUST H [T ST 2

SIS FUSTH! T TraThie AT SHHRT: 8-

A. 4122 gor 31a?

B. 3la? 7urr 3la’

C. 31a2 qor 1a2

D. 31a2 qur 41a2

e ot fowehrdt & et searmard! forvar
TR n 7, a9 frd fervrar o 3fiferr emmarfa
1 A 20

A. 2n
B. n

n
2
D. 3n

60 THT. T AT 2 FHT. SATE AT Tk A1
ShTS TTETITeRT T 2000 %Y (turns) Bl IS
IG5 TftaT st amw yeted gy, qr SeH

3T~ FARE Tcdl T B2
A. 0.042 &
B. 0.035 3%
C. 0.030 &
D. 0.021 &
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26. Two charged conducting spheres of 26. a 3R b HraTe ATt 31 ST ATetes Mot

radii a and b are connected to each other @wm@-@ﬁsﬁ%m{%l S e
by a wire. What is the ratio of electric

_ o BT W Ferega &1 # R ST 87

field at the surfaces of the two spheres?
A. a A2

b b
B. b B. b

g a

o 3

oz o

27. A projectile is projected with a speed u 27. THIRIH T u AT 0 FOT R
at angle 6 with the horizontal. The g Rrar STaT 21 St I8 gy Afes R
speed of this projectile when its
o _ F e O/ shror s &, 7 g A
direction of motion makes an angle %
with the horizontal will be- afl-
A. ucos6 A. ucos
2 2
B. 0 B. 0 ej
0/ _cec2 u| 2cos Y., —sec—

u (2 cosA sec 2) ( A 2
C. ucos® C. ucos6
. u(cosg—secgj > u(cosg—secgj

2 2 2 2

SPACE FOR ROUGH WORK / &% &Td & for&r sre
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28. A Galvanometer having a coil resistance 28. U oIS hi FHUSeT T il 60 Q)

of 60Q shows full scale deflection, 21 31T 1.0 amp (TRR) By 3 forw ot

when a current of 1.0 amp passes St 37 RrdTor ITE AT 31 9 e

through it. It can be converted into an

ammeter to read currents upto 5.0 amp 1 5.0 TR 5 6 o ST H A

by- fere-

A. Putting in parallel a resistance of A. GAFCHAH 30Q 1 e ST
300 ST

B. Putting in series a resistance of

56 B. AU shH T 15Q 1 feRIY ST 8T

C. THFAUSHAH 15Q o1 gfaqUe sieT

C. Putting in parallel a resistance of

150 Sl
D. Putting in series resistance of 30Q D. AU sHAH 300 T TieRIE ST &N
29. The series limit wavelength of the 29. TTISISH TUFEH o ATSHA HIKST o foq
Lyman series of hydrogen atom = qaTed o T T
emission spectra is-
0]
0 7300A
7300A
0
0 3650A
3650A
0
0 911A
911A
D. 0
D. 0 1822 A
1822 A

SPACE FOR ROUGH WORK / &% &Td & for&r sre
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30.

31.

If the Si diode and Ge diode conduct at
0.7 V and 0.3 V respectively, then the
value of output voltage (V) and current

(1) in the given circuit shall be-
Ge

—
-l

e 5kQ
12V =

A. 10.5V and 2.30 mA
B. 12.7 Vand 3.24 mA
C. 10.3Vand 3.24 mA
D. 11.7 Vand 2.34 mA

A plano-convex lens fits exactly into a
plano-concave lens. Their plane surfaces
are parallel to each other. If lenses are
made of different materials of refractive
indices py and p, and R is the radius of

curvature of the curved surface of the
lenses, then the focal length of
combination is-

A. 2R
(Hp —1)
B. R
2(uy +12)
C. R
2(u1 —p2)
D. R
(ny—p2)

30. e SiTHETE 3T Ge SRS HAIT: 0.7 V

31.

3T 0.3 V W HETferd eid &, df |iche AT
HT3YE ateedl (V) 1 0H AR i
qfiaer ® & (1) 1 H1 8-

Ge

Si
12V; §5kQ

10.5 V 37T 2.30 mA
12.7 V 3T 3.24 mA
10.3 V 3T 3.24 mA

o o v >

11.7 V 3 2.34 mA

Te 990 300 R T GHAS SA9ad e
TS A o HIL U 31 A ST B
e I8 S99 H THI=H 2| IS 37 i o
Tl o Ui y 3T, B qATEH %
ook 8T (i) shi aTshal 39T R & a1 5ok
TS bl IR g Er-
A. 2R

(n2 — 1)
B. R

2(pg +H2)
C. R

2(mg —1p)
D. R

(u1—p2)
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32.

33.

In the arrangement shown in figure, the

current through 5Q resistor is-

20 2Q
%50
12V _[ > 12v

A. 1A

B. 2A

c 12,
=

D. Zero

In a laboratory four convex lenses
Ly, Ly, L3 and L, of focal lengths 2, 4,

6 and 8 cm respectively are available.
Two of these lenses form a telescope of
length 10 cm and magnifying power 4.

The objective and eye lenses are-

A. Ly, Lg
B. L]_, L4
C. L3, L2

D. L41 Ll

32.

33.

o O R R SIS E 5Q % ufalg d
& ST 9T hT | 2-

12v

Bl T

D. [

Teh SRIFTRITAT H =R 39 o Ly, Ly, Lg
T L4, Forrehl iehe gt shmaT: 2, 4, 6 3TN
8 Ui, B, SUCTeY B 39 =61 § © &1 il =hl
10 THT, THITE QT 4 STEE &A1 % Th
SfTERIT T S H SR foharT ST 2
2fereahia o STRTgYersh T 3 o 2-

A. Ly L3
B. L]_, L4
C. L31 L2

D. L4 ly

SPACE FOR ROUGH WORK / &% &Td & for&r sre
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34. Two pendulums of length 121 cm and 34.

100 cm start vibrating in phase. At some

instant, the two are in phase. The

121 9T, ud 100 GHT. TS I S Sk

U hell H Shed TR Shid 2| ToReT &

o o T ST STUHT-STIT ATe STaeraT § T
minimum number of vibrations of the
shorter pendulum after which the two T H B BN AT Seteh o A FF A1
are again in phase at the mean position T BN, STeT 3ok o1E 3 ST Rt © 1T
Is- feerferatt ot waT sher o Bl
A. 8

A. 8
B. 11
B. 11
C. 9
C. 9
D. 10
D. 10
35. A particle moves along a circle of radius 35. e VT Ueh GHT TIS(Te ool § Tk I
(@j m with constant tangential 20 ’

n ﬁwm’@m(?jm 8, WA T2
acceleration. If the velocity of the PISTTHTErEST & 2TTORT 0 39 3 & 999
particle is 80 m/s at the end of the )

. . T o 1€ Al IFHT AT 80 m/s B AT,
second revolution after motion has
begun, the tangential acceleration is- et Tfier =T 1 = E-
A. 640ms2 A. 640ms2
B. 40ms™? B. 40ms™?
C. 160mms™ C. 1607rms2
D. 40nms™2 D. 407ms™
SPACE FOR ROUGH WORK / T &t & forr sre
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36.

37.

Electric potential at A due to electric

dipole of dipole moment p is-

60°

+q -q
A. kp
r2
B. —kp
r2
C. kp
2r2
D. —2kp
2r2

The length of a potentiometer wire is

5m. An electron in this wire experience

a force of 4.8x1071°N , emf of the

main cell used in the potentiometer is-

A. 3V
B. 15V

C. 15V

36.

37.

forg A T p Tagrar SATeol =it fgggar o vmor
fererer forvar 2-

A
.
60°
+q -q
A kp
r2
B. —kp
2
c. k
2r2
D. —2kp
2r2
T Tyt <t ovaTs 5 HieX 81 39k aR H

ek e 4.8x 1010 g it oA S
ST ) ferveraTdt o gk @t <1 ferega ek

ST T M &-
A. 39
B. 15de
C. 159
D. 5dke
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38. If a particle travels n equal distances 38. ?11°<:’Q?=5?=FUTnlqi:lFrErFTaTm '

with speeds vq,Vy, V3, ......... ,Vp, then VLV, Vg onnn Vpy SITET & 01 ST 8, T
the average speed V of the particle will s 561 it =Tt B
be given by-
A. Vi+Vo+.tV
Ay VatVat. 4y V= - L
n
n(vy+Vo +......
B. N(Vy+Vy+.tVp) B v= (Vy Vot Vy)
= Vi+Vo +V3 4.tV
Vi+Vy 4+ V3 4.4V
C. 2 2 2
V =4/V] +V5+......
C. V:\/vlz+v§+ ...... +v2 \/V1+V2+ Vi
D. 1 1/1 1 1
o1 1)1, 1, 1 V=H{7+E+ ----- +V—}
V onlvyy v2 7 Vi ! n
39. Ratio of longest wavelengths 39. TSI o WFH H ATZHT qUT STHT Hoft
corresponding to Lyman and Balmer £ gatfies ot qaTded o ST BT -
series in hydrogen spectrum is-
A 9
A9 31
31
B. 5
B. 5 7
27
C. 3
c. 3 23
23
D. 7
D. 7 29
29

SPACE FOR ROUGH WORK / &% &Td & for&r sre
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40. A capillary tube of radius r is immersed 40. AT r 6T S HIRTHT AT ST § ol & AR
in water rises in it to a height h. The = SToT ST h % =T 21 ST Tt &

mass of the water in the capillary is 5g.
Another capillary tube of radius 2r is R ST T FAH Sg B B 2r g

immersed in water. The mass of water SRR ERIERERCIEASERIEELH
that will rise in this tube is- =S ST T FIHH -

A. 259 A. 2590

B. 5090 B. 50¢

c. 100g C 1004

D. 2009 D. 20.0g

SPACE FOR ROUGH WORK / &% &Td & for&r sre
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PART - 111

Chemistry ASISE]

41. 100 ml of 1 M solution of CuBr, was 41. THHEITH | M CuBr, o= & 100 fref
electrolysed with a current of 0.965 T 0.965 TR 3 a1 foera staere fRam
ampere for one hour. What is the

T &< §C CuBrr, forera ot Amerar s
normality of the remaining CuBr,
grft?
solution?
D 4.92 D. 4.92
42. Which is not correctly matched? 42. e & oo | gafoa @ 22

A. XeOg -Trigonal bipyramidal A. XeO;-Branvfig fgfiafies

B. XeOF, -Square pyramidal
4TSAArERY B. XeOF, - a1 futifirest

C. CIR;- T-shape
C. CIF; - T-3$KR

D. XeF,-Linear
D. XeF,- @™

SPACE FOR ROUGH WORK / &% &Td & for&r sre
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43. Which of the following products 43. 1l SEefH (0-xylene) o STISHHTHRTIT gRT

cannot be obtained by in ozonolysis 1o 7 O 9 o7 T ST R ST HeRdT 20
of o-xylene?
~_Os
~ 0O, Zn
—_—
Zn
A 1
A. <|3| ﬂ CH;-C-C-H
CH;-C-C-H
B. CHO
B. CHO |
CHO
CHO
C. ﬂ ﬂ
C. ﬂ ﬂ CH3;-C-C-CHgj
CH3-C-C-CHj
D. |0| |0|
D. o o CH3-C-C-CHO

TR
CH3-C—C-CHO
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44. Which is the major product of the

following reaction?

o)
|l

O
s
H+

N/

B. OH OC,Hs

D. HOHN

ol

B. QH ,OC,Hs

c. HzNO5 5OH

D. HOHN

ol

. T AT ToRa 1 |1 He 3T 77

20362-XGY-PRA-VMWH-M1

21
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45 odate ions (IO§) can be reduced to 45 rirers s g aTERe (IO§) A
iodine by iodide ions. The half equation I ST § =T L Hehd & e
which represent the redox reaction are: 3rfvfsran =t 31ed SAToRa gTa e e &

afTa foRa SiT Teha 2

103 +6H" +5e~ —>%I2+3H20

103 +6H" +5e~ —>%I2 +3H,0

_ 1 _
I —>=1,+e
2
I - 1I +e
52
How many moles of iodine are produced
7 TR & ST fohd TR 3TTAIe e >
for every mole of iodate ions consumed
% Y HieT o foTt AR o fohae ot
in the reaction?
ITH 1
A. 05
A. 05
B. 25
B. 25
C. 3 c. 3
D 1 D. 1
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46. CH; 46. CHj

| Br | Br
-~ (1) Mg/ ether ® ~ 7 (1) Mg /+ether ®
(2) HO" @H0"
(3) KMnO,/OH ™~ ©) KE/InO4/OH
(4 H* @) H
Product (@) is e @
A.
A. (l:OOH |COOH
B.
B. COOH COOH
OH
OH
©/ ©/
© ©
D. OH D. i)H
| CHj, /CH3

~
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47. The compound which undergoes
SNl reaction most rapidly is-

48. What is the osmotic pressure of
0.2MHX(aqg.) solution at 300 K?

Given: K, (HX)=8x10°
A. 4.926 atm

5.024 atm

0.5024 atm

9.624 atm

O 6w

49- HgZ+

Product (B) is-
A. Alanine
Leucine

Glycine

O 0O »

Valine

48.

49.

300 K @19 W 0.2 M HX (Sefr) faem=m st
QTETOT ST T BITT?

e g K, (HX) =8x107°
4.926 IIIHEA
5.024 STgHSA

0.5024 IIIHEA

o 0 w >

9.624 aTgHSA

Hg?Y, .+
/i @

H-C=C-H——

1) NH3[HCN
2) H;0*

A
B. THI
C
D
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50. Nitrogen dioxide cannot be obtained 50. e SRT ATS2IS STSSATHATESS oh ITH et

from- fopaT ST TreRaT?
A. CU(NO3)2 A CU(NO3)2
B. NaNO
3 B. NaNOj
C. AgNO; C. AgNO,
51. The sum of all the quantum numbers of 51. BTESISH WAV o Gl FaieH HearsH|
hydrogen atom is- AT BIT-
A O A O
B. 1 5 1
¢. 3 c. 3
2 ' 2
D. 2 o 2
52. Maximum enol content is in- 52. o 31T &9 AfereRay 872
A. O A. o)
/”\ /”\
B |0| B. o)
A
/\H /\H
C O C.
L] L] ] I
Ph/\/\Ph ph/\/\ph
D O) o) D
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>3. @—CEC—@—O—CH3 53.

l Hg2+/H+
@

Major Product
Product @ is-

o CHZ—@—O CH,
{O)-cH,- ﬁ—@— O—CH,

OH
(O)tH—cH,—(Q)-0-cH,
D. {O)-ch,- E: -{0)—0-CH,

A.

54. One mole of N,(g) is mixed with 2 54.

moles of H,(g) in a4 litre vessel. If
50% of N, (g) is converted into
NH3(g) by the following reaction:

N2(9) +3H2(9) = 2NH3(g)
What will be the value of K, for the
following reaction equilibrium.

NHs(g);‘%Nz(gHgHz(g)

C. 256
D. 144

{0)—c=c—0)—0—cH,
ng%‘“
®
TR FTE

C—CH, —@—o CHs
(B>t~ E (D) o-ch,

OH
@—EH—CHZ—@— 0—CH,
D. {O)-cH,- :';: -{O)—0-cH;

4AXFIAT TH AT N, (1) T 2 el
H, (&) &t fufsa foram mam afe fem
AT & HTER 50% N, (79) T
iEdd NHg (1) 3 g

N> (9) +3H2(9) = 2NH3(9)

ar e amer safsRam o foTg K, 1AM
T BITT?

NH3(9)\=‘%N2(9)+2H2(9)

A.

16
B. 16

C. 256
D. 144
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55. What is the temperature at which liquid 55. foRE 19 TS (59), SicT (ITSH) o A1
water will be in equilibrium with water HTEATEEAT 9T 812
vapour?

AHyap = 40K) /ol AHy5p =40kJ / mol

ASVap =0.1kJ/ mol ASvap =0.1kJ/ mol

A. 400K A. 400K
B. 200K B. 200 K
C. 800K C. 800K
D. 600 K D. 600 K
56. What is the wavelength emitted during 56. |2+ ST % 31 Tl 3 i Toie
the transition of electron in between two . 5 St e
i |.2+. i .w % Y
Ieyels of L.| ion whose sum is 4 and R O e—
difference is 2?
A. O.565><10_6 cm A. 0.565><10_6 ot
B. 339x10%cm B. 3.39x107% @i,
C. 226x10%cm C. 2.26x107° ot
D. 1.13x10%cm D. 1.13x107% &,
57. Which anion can undergo both 57. =0 @ fome womee o STTeRieRToT e
oxidation and reduction? T=ET S BT 29
A cr0os”
2Y7 A. Crzos—
B. g2-
S B. g2-
C. NO3
03 C. NO§
D. -
OcCI D. ocl
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58. Which of the following elements is an 58. 0 UBS R a S araea

isodiapher of g U HATESH 27
212
A g,Pb A. o Pp2L2
231
B. 4Th B. ,Th?!
:209
C. g3Bi C. 43Bi20
231
D. 91Pa D. 91P3.231
59. Cly(g)+Ba(OH), 59. Cly(g)+Ba(OH),
— X(aq) +BaCl, + H,0O — X(aq) +BaCl, + H,O
X +H,S0, — Y +BaS0, X +H,S0, — Y +BaS0,
A A
Y —gex >4t H0+0; 305K a2 T H20 702
Y and Z are respectively- Y QAT Z SHU: 2-
A. HCIO3,ClOg A. HCIO3,ClOg
B. HCIO,,CIO; B. HCIO,,CIO,
C. HCIO3,CIO, C. HCIO3,ClO,
D. HCIO,4,Cl;0; D. HCIO,,Cl,0;

60. When ZnS and PbS minerals are present 60. S ZnS TUT PbS W1 Teh HIF JUTL &,

together, then NaCN is added to s NaCN okl 3T9€Teeh & &9 H T Wia
separate them in the froth-floatation B SRR 3 ereRT 3 R fireme S
process as a depressant, because- i c
A. They can not be separated by adding i
NaCN A. NaCN @I fe w38 qeres &1 o
B. Pb(CN), is precipitated while no ST GehdT
effect on ZnS B. Pb(CN), T a&uuy &l SITaT & STelfch
C. ZnS forms soluble complex 7nS T IS THT &1 gedT
Na, [Zn (CN .
2[Zn(CN), ] C. ZnS T oot et
D. F:\tl)s forms soluble complex Na. [Zn (CN)4]6FHFIT%
ao [Pb (CN)4] .
D. PbS T forcia dat
Na, [Pb(CN), ]sHmm &
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PART - IV

Biology RIERERICH
61. HIV virus affects ----- in AIDS patient. 61. USH U § USSR ATIH ----- 1 Tl
A. T-helper cells only Tl B
B. All T-cells A. el -2 IR
C. B-cells only B. &t A-=nifrenrd
D. BothBand T cells C. ad sfi-If3renTd
D. aHi off ud & hifsrehrd
62. Which of the following vitamin is 62. {11 5 @ & @1 foretfo s o goreiier
soluble in fat? AT R?
A. Vitamin-B A R -t
B. Vitamin-C B et -
C. Vitamin-A '
c. ffim-T
D. Vitamin - B12
D. foerfim — sty
63. Krebs cycle takes place in- 63. Shed =Ish U BIdT 8-
A. Endoplasmic Reticulum A, TEIATsHe Yoham
B. Mitochondria B. WIZarhifgaT
C. Dictyosomes c. fefredm
D. Chloroplast D, FeRiwETE
64. Kranz anatomy is found in- 64. hesT TATSIHY UTE STt 2-
A. Stem of Cj3 plants A. Cyieishaad
B. Stem of C, plants B. C, Meishad#
C. Leaves of C3 plants C. Cj el i 3
D. Leaves of C4 plants D. C, i st vt &
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65. Cytokinesis is- 65. WEIIHRIEE -
A. Division of nucleus A. heseh 1 T
B. Division of chromosome B. SHIEEI T s
C. Division of cytoplasm C. S & e
D. None of the above D Wé?ﬁﬁﬁﬁ'%ﬁ
66. Clavicle bone is found in- 66. FAforenct el Ul ST 2-
A. Pectoral girdle A. UFRRA Ted
B. Pelvic girdle B. Ufeas TS
C. Humerus C. T
D. First vertebra b H;FHZ%T
67. Fertilized Egg divides by the process of- 67. ffua et fora afshar sarr fomfsra &rar
A. Oogenesis &
B. Cleavage A. S
C. Invagination B. aefierst
D. Regeneration C. FHARFRM
D. T
68. The Fungal disease of Poultry is- 68. Fape T FHAF U7 &
A. Coccidiosis A, FeEfeqf
B. Moniliasis B. mifferenfed
C. Coryza C. s
D. Mareks D. W
SPACE FOR ROUGH WORK / % & & {o13 STiTg
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69. Which organelle are called “suicidal 69. HIfITeRT & Tore ISR ol “Tarwraft

bag” in cell? ffperT Faa 22
A. Vacuole A R
B. Lysosome I
C. Chloroplast
C. giders
D. Golgi body
D. Tt sier
70. Botanical name of ground nut is- 70. TR T AT T &-
A. Arachis hypogea A, W g
B. Brassica campestris B. it wifeT
C. Glycine max C e B
D. Dolichos lablab I S—
71. Life cycle of Mucor is- 71. TIORL T Sfie w5k 8-
A. Haplontic type A, Al TR
B. Isomorphic B. TEEIiTh®
C. Diplontic type S —
D. Heteromorphic D B

72. Phloem in plants is mainly responsible 72. e A R S ST qivare e g 8-
for- A. T o AREE &

B. Tt ufére % ftaed o

C. s varef o aftaed 20

D. CO, % uftEsa aq.

A. Transportation of water
B. Transportation of amino acid
C. Transportation of food

D. Transportation of CO,
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73. Phellogen is- 73. SUSH ®-

A. Intercalary meristem A, I=afaE fovsaids
B. Apical meristem B. ey favsaas
C. Secondary meristem c. fadiae frysdias
D. Lateral meristem D. T4 fgusEEE
74. The O, in photosynthesis is released 74. yEHETEINTH O, T ket 2-
from-
A. O, A"
A. O, molecule
B. H,0 31
B. HyOmolecule
C. TR &
C. Chlorophyll
D. FEEESE
D. Carbohydrates
75. The Terminal End of a chromosomes is 75. TUREAT SR ST B FEeTT B-
called-
A. HUZHER
A. Centromere
B. JcAHRR
B. Telomere
C. Chromomere c.
D. Metamere D.
76. Drug Belladonna is got from- 76. SITSHI GETS TH ol STl &-
A. Papaver A. SUEeRd
B. Atropa B. WUy
C. Acacia C. Wg
D. Pea D. HXA
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77. The Major Protein of the Connective 77. GRS e TG TEH &-

tissue is-
. A, TR
A. Myosin
B. ahlcieH
B. Collagen
C. Keratin c
D. Melanin D. HfH
78. Which part of Ovary in mammals acts 78. TR | STSTIRT T I |1 91T
as an Endocrine gland after Ovulation? FEIcESIT % o1 3iq-aet ot st st
A. Stroma FLAT 82
B. Germinal epithelium A, T
C. Vitelline membrane B. S« ufuferforam
D. Graafian follicle C. foRamsT ursH
D. 3t wifcTra
79. The pH value of the blood in human 79. TS YR T Th o 0.0, T 0 2T 8-
body is-
A. 6.4
A. 6.4
B. 48
B. 438
C. 74
C. 74
D. 84
D. 84
80. DPT vaccine is given for- 80. i <t =1 Fewr fam ST 2-
A. Tetanus, Polio, Plague A, e, aifersty, @
B. Diphtheria, Whooping Cough and B. Tecofi, siefiaieh us sHuin
Leprosy ' ’ >
C. Diphtheria, Pneumonia, Tetanus C. fewfifear, fmfen, foea
D. Diphtheria, Whooping Cough, D. fewehifear, shrefitel, feera
Tetanus
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81.

82.

83.

PART -V

English
The paper-seeming boy with rat’s eyes 84.
means
The boy is-

A. healthy and happy

B. thin, hungry and weak
C. sly and secretive
D

. unpleasant looking

“Go to school,” I say glibly 85.

Glibly means-

A. Confident, but is too simple and
lacks careful thought

B. Expressed very seriously
C. Concerned and with conviction

D. None of the above

Those who prepare green wars, 86.

wars with gas, wars with fire,
victory with no survivors,

would put on clean clothes

and walk about with their brothers
in the shade, doing nothing.

What does putting on clean clothes
signify?

A. Not going to war

B. Preparing for a fresh war

C. Buying new clothes
D

. None of the above

ST

A letter beginning with the salutation
‘Dear sir’ would have the subscription
or leave-taking-

A. Your Sincerely
B. Yours faithfully
C. Your Faithful
D

. Yours Sincerely

“Let tigers beware!”

The Tiger King said these words when
he was-

A. Ten weeks old
B. Tenyearsold
C. Ten months old
D. Tendaysold

How does Charley confirm that he has
time-travelled to 18947

A. The information booth in the centre
was wood old looking

B. The lights were dim and sort of
flickering

C. The newspaper The World and the
lead story about President Cleveland

D. Everyone in the station was dressed
like eighteen-ninety-something
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87. William Douglas had an aversion to 90.

water when he was in it because-

A. He remembered all the drownings in
the Yakima River
B. He had slipped in the bathtub
C. The waves of the ocean had
knocked him and swept over him
when he was three or four
D. Because of the misadventure that
happened in the pool
88. Which of the following is not a 91.

characteristic of a good notice?

A. Eye-catching caption
B. Readable and legible print
C. Points are arranged in order
according to priority
D. Signature and designation are not
required
89. They slept when the night came. 92.

Identify the clause-

“What a thunderclap these words were
to me!”

The words were-

A. loud and clear
B. startling and unexpected
C. pleasant and welcome

D. None of the above

“For I do not want you to be
embarrassed at this Christmas season by

Complete the sentence with an
appropriate word.

A. arattrap
B. apeddler
C. astranger

D. athief

“The merry children ------- out of their
homes,”

Complete the line with the appropriate

A. Adjective clause word from the poem.
B. Noun clause A. running
C. Adverb clause B. sprinting
D. None of the above C. barging
D. spilling
SPACE FOR ROUGH WORK / T% &1 & o1 s17Te
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93.

94.

95.

“All at once the church-clock struck
twelve. Then the Angelus.”

Angelus means-

A. Siren used in war
B. Prayer at noon
C. Invasion

D. None of the above

Why did his mother write such a letter?

Change the voice to passive-

A. Why was such a letter written by his
mother?

B. Why would his mother write that
letter?

C. Why were such a letter written by
her mother?

D. Why was such a letter wrote by her
mother?

The girl said “How happy I am”

A. She exclaimed that she is happy

B. The girl exclaimed that she was
very happy

C. The girl said I was very happy

D. The girl wondered that she was
happy

Read the passage given below and
answer the following questions from
No. 96 to No. 100.

There are of course no friends like
living, breathing, corporeal men and
women; my devotion to reading has
never made me a recluse. How could it?
Books are of the people, by the people,
for the people. Literature is the immortal
part of history; it is the best and most
enduring part of personality. But book-
friends have this advantage overliving
friends; you can enjoy the most truly
aristocratic  society in the world
whenever you want it. The great dead
are beyond our physical reach, and the
great living are usually almost as
inaccessible; as for our personal friends
and acquaintances, we cannot always
see them. Perchance they are asleep, or
away on a journey. But in a private
library, you can at any moment converse
with Socrates or Shakespeare or Carlyle
or Dumas or Dickens or Shaw or Barrie
or Galsworthy. And there is no doubt
that in these books you see these men at
their best. They wrote for you. They
“laid themselves out,” they did their
ultimate best to entertain you, to make a
favourable  impression. You are
necessary to them as an audience is to
an actor; only instead of seeing them
masked, you look into their innermost
heart of heart.
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96. How you can enjoy the most truly
aristocratic society in the world
whenever you want it?

A.
B.

D.

97.

98.

By traveling and seeing your friends

By reading you are taken to
different worlds in the books
whenever you want

You are in your private space and
no one disturbs you

None of the above

What could the ‘great dead’ mean?
A.
B.
C.

Dead people
People who died in anonymity

People of the past who are regarded
as important in the present

None of the above

Why his devotion to reading has never

made him a recluse?

A.

Books are written by the people,
about the people and for the people

Our personal friends and
acquaintances, we cannot always
see them. Perchance they are asleep,
or away on a journey

He does not like people in reality

None of the above

99. What does ‘they laid themselves’ out
mean?

100.

A.

B
C.
D

. None of the above

To put in a great deal of effort

. Totell one’s deepest secrets

To write in a very frivolous manner

How does book friends have an
advantage over corporeal friends?

A.
B.
C.

They are accessible all the time
You see them at their best

They are not asleep or away on
journey

All of the above
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